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program themag3;

var

begin

end.

axia,ekptosi,teliko: real;
tropos: string;

write(‘Amce ™ cvuvolikn agia’);
readIn(axia);
write(‘A®ce ToviepoTo TANPOURS’);
readln(tropas);
if tropos # METPHTA’
then ekptesi:= axia*20/100
else
if tropos = “KAPTA’
then ekptosi:= axia*10/100
else‘ekptosi:= 0;

writeln(ekptosi);
teliko:= axia — ekptosi;
writeln(teliko);
if teliko > 200
then writeln(‘Kepdicate dmpo’);




OEMA A

program themad;

var
I, plithos: integer;
athroisma, timh, MO: real;
begin
athroisma:= 0;
plithos:= 0;
for i:=1to 30 do
begin
write(‘Amce v Ty Tov pHTOL’);
readIn(timh);
iftimh<=1
then writeln(‘®vcloloyikd?)
else
if timh <=2
then writeln(‘Op1aio’)
else writeln(‘Emwivouvo’);
if timh >3
then plithes:= plithes + 1;
athreisma:= athroisma™ timh;
end;
M@:= athroisma/30;
writeln(MO);
writeln(plithos);
end.



